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A ChatGPT szómágikus kudarca: mit is jelent a kiindulási nyers feladatszöveg?
(pl. mi van, ha a feladat nem a 10-es számrendszerben kerül értelmezésre)
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chat gpt:
math problem: from a four-digit number, we subtract the three-digit number consisting of the first three digits, then the two-digit number consisting of the first two digits, and finally the first digit. What was the original four-digit number if the result was 3333?
 
ChatGPT
ChatGPT
Let's denote the four-digit number as ABCD, where A, B, C, and D are digits.
The process you described can be expressed as follows: ABCD - ABC - AB - A = 3333
Now, let's substitute the digits with their places: 1000A + 100B + 10C + D - (100A + 10B + C) - (10A + B) - A = 3333
Combine like terms: (1000A - 100A - 10A - A) + (100B - 10B) + (10C - B) + D = 3333
Combine further: 889A + 90B + 9C + D = 3333
Now, we can express 3333 as a multiple of 9: 3333 = 9 * 370
So, the equation becomes: 889A + 90B + 9C + D = 9 * 370
Divide both sides by 9: 99A + 10B + C + (D/9) = 370
Now, since A, B, C, and D are digits, they must be integers. Looking at the equation, we see that (D/9) must be an integer for the equation to hold.
Considering that (D/9) is an integer, D must be a multiple of 9. The only digit between 0 and 9 that satisfies this is D = 9.
Now the equation becomes: 99A + 10B + C + 1 = 370
Solve for A, B, and C: 99A + 10B + C = 369
One possible solution is A = 3, B = 5, and C = 4.
So, the original four-digit number is 3549.
 
You
is it correct? The original four-digit number can be any of the following: 1444 2555 3666 4777 5888 6999
 
ChatGPT
ChatGPT
Let's verify if the original four-digit number can indeed be any of the provided options: 1444, 2555, 3666, 4777, 5888, 6999.
Let's take 1444 as an example:1444−144−14−1=12851444−144−14−1=1285
This result is not equal to 3333, so 1444 is not a valid solution.
Now let's check the other possibilities:2555−255−25−2=22732555−255−25−2=22733666−366−36−3=32613666−366−36−3=32614777−477−47−4=32494777−477−47−4=32495888−588−58−5=32375888−588−58−5=32376999−699−69−6=32256999−699−69−6=3225
None of the provided numbers give the result of 3333. It seems there might be an issue with the given set of possible solutions or the original problem statement. Please double-check the problem or provide additional information if needed.
 
You
did u work in 10digit system or binary?
 
ChatGPT
ChatGPT
Apologies for any confusion in my previous responses. I worked in the base-10 (decimal) system, as it is the standard system for representing numbers in everyday use. If you have a specific preference for another base, such as binary, octal, or hexadecimal, please let me know, and I'll be happy to assist you accordingly.


bing:
math problem: from a four-digit number, we subtract the three-digit number consisting of the first three digits, then the two-digit number consisting of the first two digits, and finally the first digit. What was the original four-digit number if the result was 3333?
 

Copilot
Let’s break down the problem step by step:
1. We start with a four-digit number.
2. First, we subtract the three-digit number formed by the first three digits of the original number.
3. Next, we subtract the two-digit number formed by the first two digits of the result from step 2.
4. Finally, we subtract the first digit of the result from step 3.
Let’s denote the original four-digit number as ABCD, where:
· A represents the thousands place digit.
· B represents the hundreds place digit.
· C represents the tens place digit.
· D represents the ones place digit.
Now, let’s calculate the difference step by step:
1. Subtract the three-digit number formed by the first three digits:
· Result after this step: BCD - ABC = 3333
2. Subtract the two-digit number formed by the first two digits:
· Result after this step: CD - AB = 3333
3. Subtract the first digit:
· Result after this step: D - A = 3333
Since the final result is 3333, we can write the following equations:
1. BCD - ABC = 3333
2. CD - AB = 3333
3. D - A = 3333
Let’s solve for the original four-digit number:
1. BCD - ABC = 3333
· Subtracting the corresponding digits: 
· D - C = 3
· C - B = 3
· B - A = 3
· Since the difference between consecutive digits is the same (3), we can infer that D = C + 3, C = B + 3, and B = A + 3.
2. CD - AB = 3333
· Subtracting the corresponding digits: 
· D - B = 3
· C - A = 3
· Using the relationships from step 1, we get: 
· (C + 3) - (A + 3) = 3
· C - A = 3
3. D - A = 3333
· Using the relationship from step 1: 
· (C + 3) - A = 3
· C - A = 0
Since C - A = 0, we know that C = A.
Now let’s find the values of the digits:
· C = A
· B = A + 3
· D = C + 3 = A + 3
Since we’re dealing with a four-digit number, let’s consider the possible values for A:
· If A = 1, then B = 4 and D = 4.
· If A = 2, then B = 5 and D = 5.
· If A = 3, then B = 6 and D = 6.
· If A = 4, then B = 7 and D = 7.
· If A = 5, then B = 8 and D = 8.
· If A = 6, then B = 9 and D = 9.
The original four-digit number can be any of the following:
· 1444
· 2555
· 3666
· 4777
· 5888
· 6999
Therefore, the original four-digit number could be any of these possibilities. Without additional information, we cannot uniquely determine the exact original number. 🤔
3classace.io4khanacademy.org
 
 
Ön
So, the original four-digit number is 3549. is it correct?
 
 
Copilot
Indeed, let’s verify if the original four-digit number is 3549. We’ll break it down step by step:
1. BCD - ABC = 3333
· For 3549: 
· D - C = 9 - 4 = 5
· C - B = 4 - 5 = -1
· B - A = 5 - 3 = 2
· The differences are not consistent, so this doesn’t match.
2. CD - AB = 3333
· For 3549: 
· D - B = 9 - 5 = 4
· C - A = 4 - 3 = 1
· The differences are consistent, but let’s check the next step.
3. D - A = 3333
· For 3549: 
· D - A = 9 - 3 = 6
· This matches the given difference.
Therefore, 3549 is indeed the correct original four-digit number! Well done! 🎉
helyi menü tartozik hozzá


KONZISZTENCIA-alapúság: pl. kölcsönös ellenőrzése AI-alternatíváknak egymássalde a konzisztencia fogalmát megfelelően kell életre kelteni?
Vö. https://miau.my-x.hu/miau2009/index_tki.php3?_filterText0=*konzisztencia 
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Reménytelen a megkezdett úton a ChatGPT kibillentése a példa félreértelmezéséből.
Kiváló pedagógiai/módszertani kérdés: miként kell új prompt-ot készíteni?
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Melyik az a négyjegyd szam, melybdl ha kivonjuk az elsé hdrom szamjegybdl képzett hdromjegya szémot, majd kivonjuk az elsé két szamjegybél képzett
kétjegya szamot és végiil kivonjuk az elsé szamjegyet, akkor 3333-t kapunk! Példa: 4285-428-42-4=3811, vagyis a 4285 helyett keressiik azt a négyjegyd
szémot, amihez a 3811 helyett 3333 tartozik a kivonasok utan! Melyik ez a négyjegyi szam?

oy copilot
(g Személyes és céges adatai védettek ebben a csevegésben
Az dltalad leirt szamitdsok alapjén keressiik azt a négyjegy( szamot, amelyhez a kivonasok utan 3333 tartozik.
1. El6sz6r a haromjegyl szamot képezzilk az elsé hdrom szamjegybdl:

o 4285-428 = 3811

2. Ezutan a kétjegy szamot képezziik az elsé két szamjegybdl:

o 3811-42=3770

3. Végiil kivonjuk az elsé szamjegyet:
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3. Végl kivonjuk az elsé szamjegyet:
o 3770-4=3766
Tehat a keresett négyjegyl szam: 3766. &

Tovabbi informacié 1 @ jerikogimnazium.hu = 2 [ matekmindenkinek.hu = 3 hu.khanacademy.org

& On

A hdromjegy és a kétjegyu és az egyjegyd szamokat mindenkor a kiinduldsi szambdl kell képezni!

oy copilot
(g Személyes és céges adatai védettek ebben a csevegésben
Elnézést a hibamért! Kszonom, hogy kijavitottad. Most tjra megvizsgalom a problémat.

1. El6sz6r a haromjegyl szamot képezzilk az elsé hdrom szamjegybdl:
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1. El6sz6r a haromjegyl szamot képezzik az elsé harom szamjegybol:

° 4285 — 428 = 3811

2. Ezutan a kétjegy szamot képezziik az elsé két szamjegybdl:

® 2011 — s —2/1v

3. Végiil kivonjuk az elsé szamjegyet:

° 3770 — 4 = 3766

Tehat a keresett négyjegyl szam: 3766. &

On

Nem az a feladat, hogy a 4285-bél indulsz ki, hanem ehelyett keressiik a 3333-ra vezetd szamot. Nélad 3333 helyett 3766 jGtt ki. Ez helytelen.
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oy copilot

(g Személyes és céges adatai védettek ebben a csevegésben
Elnézést a hibamért! Kszonom, hogy kijavitottad. Most tjra megvizsgalom a problémat.

1. El6sz6r a haromjegyl szamot képezzilk az elsé hdrom szamjegybdl:

° 4285 — 428 = 3811

2. Ezutan a kétjegy szamot képezziik az elsé két szamjegybdl:

° 3811 — 42 =3770

3. Végiil kivonjuk az elsé szamjegyet:

° 3770 — 4 = 3766

Tehat a keresett négyjegyl szam: 3766. &
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Egy négyjegyl szambdl kivonjuk az elsé harom jegybdl allé
haromjegyl szamot, majd az elsé két jegybdl allé kétjegyd
szamot, végul az els6 szamjegyet. Mi volt az eredeti négyjegy
szam, ha eredményil 3333-t kaptunk?
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oy copilot
Az eredeti négyjegy(i szam, amelybél ezt a miiveletsort végeztiik, 7333 volt. fif]
Hogyan jutottunk erre az eredményre?
1. El&szor kivontuk az elsé harom jegybdl allé haromjegy(i szamot:
7333 = 333 = 7000.
2. Ezutdn kivontuk az elsé két jegybdl 4ll6 kétjegy( szamot:
7000 — 33 = 6967.
3. Végiil kivontuk az els8 szamjegyet:

6967 — 6= 7333,

Ezért az eredeti négyjegy(i szam 7333 volt. &
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